The HASSRA 1% Puzzle – Number Two
Q1. If there were no vowels at all, what would be the 13th letter of the alphabet?
Q2. Eight people are in a circle, either standing up (U) of sitting down (D) as shown in image.  Everyone who is standing up sits down and vice versa.  How many people are now standing?

Q3. Which of the following words is still recognised as a word if you substitute the first letter for the next letter in the alphabet and the last letter for the previous letter in the alphabet?
(a) Brink
(b) Crown
(c) Crest
Q4. Below is the recipe for the HASSRA Burger.  If I have nine whole buns, nine cheese slices, eight tomato slices and ten patties, what is the maximum number of HASSRA Burgers I can make?
[image: A diagram of a burger

AI-generated content may be incorrect.]
Q5. How many pairs of anagrams are there in the following sentence?
Alice, Dan, Celia and Enid hoped to dine well on the plane from Nepal
Q6. Have a look at this bathroom floor covered in square tiles.  If each square tile features eight triangles, how may square tiles cover this floor?
[image: A blue and white tile

AI-generated content may be incorrect.]
Q7. In the puzzle below, what four words replace the question mark?
Shatter the frozen water = Break the ice
You can’t assess a novel by its dust jacket = You can’t judge a book by its cover
Illustrious intellects imagine identically = ?
Q8. Four people are in a maze trying to reach the centre.  Which of them is going the wrong way?
[image: A circular maze with arrows

AI-generated content may be incorrect.]
Q9. You have a pack of 52 playing cards in your hand and decide to sort them into alphabetical order. The ACE of CLUBS, ACE of DIAMONDS, ACE of HEARTS and ACE of SPADES are the first four cards you place on the table. If you carried on this sequence, what would be the LAST card you would place down?


Answers
1. Q. The list goes B, C, D, F, G, H, J, K, L, M, N, P and Q.
2. 5, You just need to count how many people were sitting down as they will now be standing.
3. (C) CREST. [The instructions would turn this word into DRESS.]
4. 5. Each burger has two patties so ten patties limit the number of burgers to five. [It is assumed that the buns are cut in half.]
5. 4. [Alice & Celia, Dan & and, Enid & dine, plane & Nepal.]
6. Have a look at this bathroom floor covered in square tiles.  If each square tile features eight triangles, how may square tiles cover this floor? 20
7. Great minds think alike
8. B. [Person B is heading toward dead ends.]
9. Two of Spades
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